10| E2
K eries
SCPX3 QXL Az XIZ: p6~¢100
CMK2
CMA2 @ CAD
SCM
AH
SCG & CEEER SIS HAY | AAE Wy
— o
SCA2 FK-M3-N FK-M3 63
FK-M4-N FK-M4 110
5Cs2 FK-M5-N FK-M5 179
CKV2 FK-M6-N FK-M6 253
FK-M8-N FK-M8x 1.0 462 +0.3
CAV2 - FK-M8 x 1.25 462
CovPIN
Eibatiiuel FK-M10-N FK-M10 734
0.1~0.3
SSD2 - FK-M12 1069
- FK-M14 1466
SSG FK-M16-N FK-M16 2003
- FK-M18 2448
SSD FK-M20-N - 3130 £0.7
- FK-M22 3896
CAT - FK-M26 6219
VDCy | F1 318 35S WatsE Ueraun:
St HA| A
Mve Q0| EE2
SMG = M3-N
Maba s 8
L ES
FCx | 715 8¢ Qi Aroi= — MN M3x0.5
M4-N M4 x 0.7
STK M5-N M5x0.8 ES
SRL3 M6-N M6x 1.0 k{
M8-N M8x 1.25 £}
SRG3 M10-N M10x 1.5 2
M16-N M16x2.0
SRM3 M20-N M20x2.5
M3 M3x0.5
SRT3 M4 M4 x0.7
M5 M5x 0.8
MRL2 M6 M6x 1.0
M8x 1.0 M8x 1.0
MRG2 M8x1.25 M8 x 1.25 %;
] M10 M10x1.25 At
SM-25 M12 M12x1.5 Bt
A3 M14 M14x1.5 -
HAH M16 M16x1.5
FJ M18 M18x1.5
M22 M22x1.5
n M26 M26x 1.5
ALE 2Kt MX| CHE AFQF | ore=a No.cc-1226)
- FEEd @27 FX| X LA AL 7Hs 3t
— FK- [LHAL ALO|X] - ey R A e
HY
XIMISH LH22 CKDE 29|of FAA|L.
1874 CKD



F K Series

old x|+
QI3 X|A CAD _
18 X+ SCPX3
PUES] HPALS| CMK2
e=31(1) BH X2 LA 2
c B
- - - >~ CMA2
- D .
E | F
> - SCM
‘ N SCG
I
Y < SCA2
s o
G SCS2
0=27(2) CKV2
J L CAV2:
J L > - - COVPIN2
(- - > K S R
Kk R ~ ~ >
- -~ SSD2
| ‘ \
M /A N
Iy N i N U SSG
| | A i
1 Y SSD
=| ofol= 2 N
) s| ajo|z
1 v || ' J CAT
\ f\ \i
o v MDC2
2-Q M ‘
4-Q MVC
M3~M16 M20
SMG
221 MBS
g | =mgway | A [ B [ c | D | E | F | 6 | H [ zz; Imey
FK-M3-N | SSD-SSD2-12 16 10 15 10 3.7 2 M3x0.5 6 5.3 FCx
FK-M4-N | SSD-SSD2-16 16 10 15.5 10 3,179 2 M4x0.7 6 55
FK-M5-N | SSD-SSD2-20, FCD-25 13.9 12 16.5 10 3470 2 M5x0.8 8 8.3 STK
FK-M6-N | SSD-SSD2-25, FCD-32 13.9 12 19 10 3,179 2 M6x 1.0 8 8.9
FK-M8-N | SSD-SSD2-32, 40, FCD-40,50 |  21.9 19 23 15 5170 3 M8x1.25 13 308 |oRL3
FK-M10-N | SSD-SSD2-50, 63, FCD-63 | 21.9 19 24 15 51791 3 M10x1.5 13 327
FK-M16-N | SSD-SSD2-80 37 32 31 20 7.4 4 M16x2.0 23 1225 | SRG3
FK-M20-N | SSD-SSD2-100 53.1 46 43 28 12,970 7 M20x2.5 32 333
SRM3
F72)
S: 'IQ Al
“-““n““““% SRT3
FK-M3-N | SSD-SSD2-12 6 30, 7
FK-M4-N | SSD-SSD2-16 6 3.0, 16 14 7 24 34 45 8 - 16 MRL?2
FK-M5-N | SSD-SSD2-20, FCD-25 6 30, 19 16 9 26 36 45 95 - 19.6
FK-M6-N | SSD-SSD2-25, FCD-32 6 3.0, 19 16 9 26 36 45 95 - 196 \IRG2
FK-M8-N | SSD-SSD2-32, 40, FCD-40,50 | 9 50 25 25 14 38 52 7 12.5 - 54.5
FK-M10-N | SSD-SSD2-50, 63, FCD-63 9 5.0, 25 25 14 38 52 7 12,5 - 545 | S\.05
FK-M16-N | SSD-SSD2-80 12 70, 44 42 25 62 85 11 22 - 216
FK-M20-N | SSD-SSD2-100 22 12,5, 65 59 34 90 120 14 135 38 788 &3
A
FJ
ALE
7HEEY
HY

CKD 1875



F K Series

] A X|&E CAD
SCPX3 ¥ Xl
CMK2 Wy s
BB M2 U3 &2
cmp2 | @=T(M 0=27(2) |
J L [ - L >
D B > ~ > K _ S _ R
SCM| =2 - - K R_ - -~
L E ‘ F T -~
] I | ]
SCG (D) N N
L N i S: o |
— | i [ 4
SCA2 T 4R < [ N — 3
I S J S a0z
L ___L__LJ S a0z
scs2 ! 2 ! % J
2 v . - '
— G ) o
CKV2 | Y 4\> a
2-Q B
CAV2: -
COVPIN2 4-Q
SSD2 M3~M18 M22~M26
270
SSC | | T NS T IS O N I
FK-M3 SCPD3-6, CAT-6, SMG-6 11.6 10 10 3.1*8‘1 2 M3x0.5 6 4.6
SSD FK-M4 SCPD3-10, CAT-10, SMG-10 11.6 10 10 3.1*3-1 2 M4 x0.7 4.1
SCPD3-16, CAT-15, SMG-16 vor
| . . . X0. .
CAT FK-M5 13.9 12 10 317, 2 M5x%x0.8 8 6.2
SSD-12-N
FK-M6 SMG-20, SSD-SSD2-16-N 13.9 12 10 3.1 +g'1 2 M6x1.0 8 5.7
MDC2 FK-M8x 1.0 | CMK2-20, CMA2-20, JSK2-20, JSM2-20 219 19 15 5.1 *8‘1 3 M8x1.0 13 23
FK-M8 % 1.25 | SMG-25, SSD-SSD2-20-N, SCM-20 219 19 15 5.1 +g'1 3 M8 x1.25 13 23.4
MVC CMK2-25-32, CMA2-30, SMG-32, SSD-SSD2-25-N, vor
FK-M10 219 19 15 517, 3 M10x1.25 13 20.2
SCG-32, SCM-25-32, FCD-25-N, JSK2-25-32, JSM2-30
SMG FK-M12 CMK2-40, CMA2-40, JSK2-40, JSM2-40 27.7 24 15 5.1 +g'1 3 M12x1.5 18 35.7
MSD- SCA2-40, SSD-SSD2-32-40-N-SCG-40, vor
FK-M14 27.7 24 15 517, 3 M14x1.5 18 31.2
MSDG SCM-40, FCD-32-40-N, JSC3-40
ECx FK-M16 CAV2-50 37 32 20 7.1*3-1 4 M16x1.5 23 81.3
) SCA2-50-63, SSD-SSD2-50-63-N, SCM-50-63, vor
FK-M18 37 32 20 717 4 M18x1.5 23 73.1
STK SCG-50-63, FCD-50-63-N, JSC3-50-63
SCA2-80, SSD-SSD2-80-N, JSC3-80, -~
FK-M22 53.1 46 28 1217, 7 M22x1.5 32 226
SRL3 SCG-80, SCM-80, CAV2-75-100
FK-M26 SCA2-100, SSD-SSD2-100-N, SCM-100, JSC3-100, SCG-100 53.1 46 28 121 *3‘1 7 M26x1.5 32 193

L =2 | mewws | o |k | L | m | N O] P | a]R] S |2g
6 16 14 7 24 34 4.5 8 - 16

SRM3 FK-M3 | SCPD3-6, CAT-6, SMG-6 3.0,
FK-M4 | SCPD3-10, CAT-10, SMG-10 6 B0 16 14 7 24 34 45 8 - 16
SCPD3-16, CAT-15, SMG-16
SRT3 FK-M5 6 3.0, 19 16 9 26 36 45 9.5 - 19.6
SSD-SSD2-12-N
MRL2 FK-M6 | SMG-20, SSD-SSD2-16-N 6 B0 19 16 9 26 36 45 9.5 - 19.6
FK-M8x 1.0 | CMK2-20, CMA2-20, JSK2-20, JSM2-20 | 9 52, 25 25 14 38 52 7 12.5 - 54.5
MRG2  FK-M8x1.25 | SMG-25, SSD-SSD2-20-N, SCM20 | 9 B 25 25 14 38 52 7 12.5 - 54.5
CMK2-25:32, CMA2-30, SMG-32, SSD-S3D2-25-N, .
FK-M10 9 52, 25 25 14 38 52 7 12.5 - 545
SM-25 SCG-32, SCM-25:32, FCD-25-N, JSK2-25:32, JSM2-30
FK-M12 | CMK2-40, CMA2-40 9 B 32 32 19 50 70 9 16 - 945
A
a;q:,ﬂ SCA2-40, SSD-SSD2-32-40-N-SCG-40, .
4 E FK-M14 9 52, 32 32 19 50 70 9 16 - 94.5
SCM-40, FCD-32-40-N, JSC3-40
FJ FK-M16 | CAV2-50 12 7 04 44 42 25 62 85 1 22 - 216
SCA2-50-63, SSD-SSD2-50-63-N, SCM-50-63, .
FK-M18 12 7.2, 44 42 25 62 85 1 22 - 216
SCG-5063, FCD-50-63-N, JSC3-5063
SCA2-80, SSD-SSD2-80-N, JSC3-80, .
AllE FK-M22 22 1228, 65 59 34 90 120 14 13.5 38 788
HEZ3 SCG-80, SCM-80, CAV2-75-100
FK-M26 | SCA2100, SSD'SSD2-100:N, SCHH00, JSC3-100, SCG-100[ 22 12.0, 65 59 34 20 120 14 13.5 38 788
Y

1876 CKD





